
 

  

 

  

 

  

Twin (01)

Size: 75"L×39"W

Full (03)

Size: 75"L×54"W

Queen (04)

 

  

Size: 80"L×60"W

King (05)

Size: 80"L×76"W

 

ASSEMBLY & INSTRUCTION



Z×1PCS

Step1

Step2

 R×8
 M8×40

2-

2-

12-

2-

 S×4
 M8×53

S×4
M8×53

 S×8
 M8×53

S

S

×25×12 ×18

×210

×2（01A）6

×25

×12

×2(01A)6

×18

×210

8

10

2

5

2

8

11

5

10

13

14

6

Spare:R*1、S*1、T*1
 T×2
 M8×28

×211 ×113 ×1214

2-

6

   Platform Bed
       Set-up Instruction                                        
                                      Size:Twin



Step3

Step4

Step5

If you have any questions about the product, please don't hesitate to
contact us. You can reach us through your order. Thanks for your support!

 R×8
 M8×40

R

T

×2

×113

×12

13

 T×2
 M8×28

11

11

14

14



                  

   Platform Bed
       Set-up Instruction 
                                       Size:Full/Queen

Z×1PCS

Step1

Step2

 R×8
 M8×40

2-

2-

2-

2-

3-

T

T

2-

10-

×18×12 ×2(03A/04A)6 ×27

×10

 T×11
M8×53

5

2

8

10

6

11

13

12

7

14

×25

×12

×2(03A/04A)6

 T×4
 M8×53

×210

×18

 T×4
 M8×53

Spare：R*1、S*1、Q*1、T*1

2- 5

2

2-

8

 S×2
M8×28

 Q×4
M6×26

×25 ×210

×211 ×112 ×313 14

2- 6

10



Step3

Step4

Step5

If you have any questions about the product, please don't hesitate to
contact us. You can reach us through your order. Thanks for your support!

 R×8
 M8×40

R

S

T

Step6

×2

×313

×10

×1

×27

 T×3
M8×53

Q

2-

2- 7

 S×2
M8×28

 Q×4
M6×26

11

3-13

12

12

11

10-14

14



                        

   Platform Bed
       Set-up Instruction 
                                          Size:King

Z×1PCS

Step1

Step2

 B×4
 M6

2-

2-

2-

2-

2-

 S×8
M8×33

Q

2-

24-

×13 ×24×11 ×12 ×25 ×2（05A）6 ×17

×210

 T×8
M8×40

1
2

3

4

5

11

12

8

9

10

6

7

13

14

Step3

×18

×19 ×112 ×213 ×2414

×13

×14

×11 ×12

×25 ×2(05A)6

×17 ×18 ×19

×14

×211

 P×2
 M6×15

 Q×8
M8×53

Z

P

Z

P

 Q×4
M8×53

Spare：B*1、S*1、T*1、P*1、Q*1、Z*1

 B×2
 M6

 B×2
 M6

 Z×4
 M6×10

 Z×2
 M6×10

 P×4
 M6×15

 P×2
 M6×15

 Z×2
 M6×10

B

B

2

4

1

3

5

8

4

7

9

2- 6

2-




